
■ 次のたし算をしましょう。

① 200 + 460 = ⑭ 382 + 824 =

② 279 + 364 = ⑮ 593 + 416 =

③ 740 + 221 = ⑯ 436 + 884 =

④ 492 + 542 = ⑰ 603 + 961 =

⑤ 647 + 314 = ⑱ 607 + 205 =

⑥ 526 + 448 = ⑲ 772 + 396 =

⑦ 723 + 156 = ⑳ 468 + 214 =

⑧ 537 + 691 = ㉑ 367 + 218 =

⑨ 420 + 317 = ㉒ 630 + 736 =

⑩ 298 + 275 = ㉓ 140 + 146 =

⑪ 194 + 575 = ㉔ 865 + 154 =

⑫ 375 + 711 = ㉕ 505 + 235 =

⑬ 915 + 906 = ㉖ 829 + 608 =
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■ 次のたし算をしましょう。

① 200 + 460 = 660 ⑭ 382 + 824 = 1206

② 279 + 364 = 643 ⑮ 593 + 416 = 1009

③ 740 + 221 = 961 ⑯ 436 + 884 = 1320

④ 492 + 542 = 1034 ⑰ 603 + 961 = 1564

⑤ 647 + 314 = 961 ⑱ 607 + 205 = 812

⑥ 526 + 448 = 974 ⑲ 772 + 396 = 1168

⑦ 723 + 156 = 879 ⑳ 468 + 214 = 682

⑧ 537 + 691 = 1228 ㉑ 367 + 218 = 585

⑨ 420 + 317 = 737 ㉒ 630 + 736 = 1366

⑩ 298 + 275 = 573 ㉓ 140 + 146 = 286

⑪ 194 + 575 = 769 ㉔ 865 + 154 = 1019

⑫ 375 + 711 = 1086 ㉕ 505 + 235 = 740

⑬ 915 + 906 = 1821 ㉖ 829 + 608 = 1437

たし算の暗算
年 組 名前

/26


